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PLEASE READ THE FOLLOWING INSTRUCTIONS CAREFULLY

. This question paper consists of 7 questions and 7 pages.
2. ANSWER QUESTIONS 3(e), 4(a) and 4(b) ON THE QUESTION PAPER ON THE AXES
PROVIDED.
3 Read and answer all the questions carefully.
Number your answers exactly as the questions are numbered.
5. You may use an approved, non-programmable, and non-graphical calculator, unless otherwise

stated.
Round off your answers to one decimal digit where necessary, UNLESS STATED OTHERWISE.

All the necessary working details must be clearly shown.

It is in your own interest to write legibly and to present your work neatly.
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QUESTION 3 [42]

Given that /(x)=x* +2x —2x—4 and g(x)=x' —4.If h(x) =L E";
X

Show that h(x) =— x+2

x* 42

a)

b)

Define the horizontal asymptotes of A(x)

Calculate #'(x)=0

Determine the intercepts of A(x)

Sketch A(x)

(8)

(10)

(10)

(10)
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QUESTION 4 [4]

a) Sketch y=|inx| and

S

b) y= ln|x|
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